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In three boxes there are
additions. In one box
it 1s subtraction.

In three boxes, the sum
or difference is &. In one

box, the sum is 12.

In one box there are

both hundreds and tens.

In three boxes there are
only units.

In one box the terms
are the same. In three
boxes, the terms are
different.

In one box the terms
are odd. In three boxes
the terms are even.

In one box, the first term

1s twice as much as the
second term. That is not
the case in three of

the boxes.

In three boxes, the sum
or difference 1s an even
number. In one box,
the sum or difference
1s an odd number.

In three boxes there are
only units. In one box
there are both units

and tens.
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